### **RURAL WORKS DEPARTMENT**



### **GOVERNMENT OF BIHAR**

NAME OF ROAD:-

RESTORATION OF ROAD FROM ARRAHA TO YADAV
TOLA VIA HARIJAN TOLA

DIVISION:-

R.W.D, WORKS DIVISION, FORBESGANJ

CIRCLE:-

R.W.D, WORK CIRCLE, KISHANGANJ

BLOCK:-

**FORBESGANJ** 

ESTIMATED COST

1809116.00

1825269210

1809116=00 -

#### प्रतिवेदन

प्राक्कलन की यथा शीध्र अनुमोदन अपेक्षित. है ताकि अग्रेतर कार्रवाई की जा सके।

मिल्लिश्रीप कनीय अभियंता ग्रामीण कार्य विभाग कार्य प्रशाखा—

सहियंक अभियंता ग्रामीण कार्य विभाग कार्य अवर प्रमंडल–

कार्यपालक अभियंता ग्रामीण कार्य विभाग कार्य प्रमंडल,फारबिसगंज

#### Inspection Report for Flood Damage Work

1.Name of PIUs

: E.E. R.W. ) Forbagas

2. Name Of Block / Road

: Forbusans ) Ar saha to Hassasas Teles

A. For Road

1.Damage Location / Chainage

2.Damage Length

3. Nature Of Damage

4. Details Of Restoration

i) Material Being Used In Restoration

ii) Equipment / Tools Being Used In Restoration Works

iii) Procedure Taken Up In Restoration Works

iv) Restored Length

#### B. For Bridge

1.Damage Location / Chainage

2.Damage Length

3. Nature Of Damage

4. Details Of Restoration

i) Material Being Used In Restoration

ii) Equipment / Tools Being Used in Restoration Works

iii) Procedure Taken Up In Restoration Works

iv) Restored Length

Signature of JE /

: Bambro, E.C bag, Local and, Brick bot de.

Irks : Frator mith Truly, 5.(.B, Reller etc.

(Name Of Inspector)

#### **Abstract of Cost**

Name of Work: Estimate for Repairing/Restoration/Making Motorable Roads
Damaged during flood in JULY 2021 in ARARIA District

Name of Road:

#### RESTORATION OF ROAD FROM ARRAHA TO YADAV TOLA VIA HARIJAN TOLA

Block: FORBESGANJ

District: ARARIA

Divison: RWD, Works Division, FORBESGANJ

Circle: RWD, Work Circle, Kishanganj

SI No.	Description	Unit	Quantity (m3)	Rate (Rs)	Amount (Rs)
1	Filling of local sand obtained from river bed, watering & ramming, all complete job as per specification & direction of Engineer-in-charge.				
		Cum	935.50	627.77	587280.29
2	Labour for cutting 62mm to 75mm dia bamboo piles to size and making shoes & driving by jet machine etc. all complete job as per specification & direction of Engineer-in-Charge.				
		Mtr.	936.00	75.86	71003.65
3	Labour for fitting & fixing 62mm to 75mm dia bamboo runners in position at every vertical pile with 150 mm long nails or 38 swg G.I wire including cost of G.I wire or nails etc all complete job as per specification & direction of Engineer-in-Charge.				
		Mtr.	462.00	40.06	18507.99
4	Supplying of EC bag, filling of local sand, stitching and placing in position as per the direction of Engineer-in-charge.				
		Each	18775.81	37.35	701214.86
5	Supply and Carriage of brick bats upto 8 km breach and placing in breaches and lying of bats, all complete job.				

		Cum	69.30	1870.43	129620.99
6	Supply,laying and Carriage of of hume pipe 1000 mm dia (HPC), all complete job.				
		meter	20.00	5382.71	107654.15
	TOTAL AMOUNT =				1615282.00
	ADD 12.00 %GST=				193834.00
	SAY TOTAL AMOUNT =				1809116.00

Add 14. Licens

14153-10

**FORBESGANJ** 

(MIZE)2)

RWD WORKS DIV. FORBESGANJ

- 18252 69 20

CHEL

RWD WORKS DIV. FORBESGAN

Ref. E.E. Letter No. 1561 (3130) Dt 38/4/22

Technically Sanctioned For Rs. 18,09,116 200

(Rupees Ciguteen lace wine thousand

2014/22 AG, circle

One hundred sixteen 10.iv

Og. 4.2 Engineer

Operintending Department

Rord Works Circle, Kishanga

_		Cum	69.30	1870.43	129620.99
6	Supply,laying and Carriage of of hume pipe 1000 mm dia (HPC), all complete job.				
		meter	20.00	5382.71	107654.15
_	TOTAL AMOUNT =				1615282.00
_	ADD 12.00 %GST=				193834.00
	SAY TOTAL AMOUNT =				1809116.00

Add 1.1. Licens

14/53-00

ASMM JE TOT BIZY

DIV. FORBESGANJ (19892)

RWD WORKS DIV. FORBESGANJ

4

-18252 69 25

CHELY

RWD WORKS DIV. FORBESGAN

Ref. E.E. Letter No. 1561 (3130) Dt. 28/4/22

Technically Sanctioned For Rs. 18,09,116 200

(Rupees Cignteen lace wine thousand

2014/22 AG, circle

ene hundred sixteen 10 iv

Signature of the state of the

#### **Abstract of Cost**

Name of Work: Estimate for Repairing/Restoration/Making Motorable Roads
Damaged during flood in JULY 2021 in ARARIA District

Name of Road:

RESTORATION OF ROAD FROM ARRAHA TO YADAV TOLA VIA HARIJAN TOLA

Block: FORBESGANI

District: ARARIA

Divison: RWD, Works Division, FORBESGANJ

Circle: RWD, Work Circle, Kishanganj

d Na	Description	Unit	Quantity (m3)	Rate (Rs)	Amount (Rs)
1	Filling of local sand obtained from river bed, watering & ramming, all complete job as per specification & direction of Engineer-in-charge.				
		Cum	935.50	627.77	587280.29
2	Labour for cutting 62mm to 75mm dia bamboo piles to size and making shoes & driving by jet machine etc. all complete job as per specification & direction of Engineer-in-Charge.				
		Mtr.	936.00	75.86	71003.65
3	Labour for fitting & fixing 62mm to 75mm dia bamboo runners in position at every vertical pile with 150 mm long nails or 38 swg G.I wire including cost of G.I wire or nails etc all complete job as per specification & direction of Engineer-in-Charge.		Sec.	2.10	
_		Mtr.	462.00	40.06	18507.99
4	Supplying of EC bag, filling of local sand, stitching and placing in position as per the direction of Engineer-in-charge.				
_		Each	18775.81	37.35	701214.86
5	Supply and Carriage of brick bats upto 8 km breach and placing in breaches and lying of bats, all complete iob.				
		Cum	69.30	1870.43	129620.99
6	Supply laying and Carriage of of hume pipe 1000 mm dia (HPC), all complete job.				
		meter	20.00	5382.71	107654.15
-		Total A	mount (in Rs)	1615281.93	

EWD WORKS DIV. FORBESGANI

RWD WORKS DIV. FORBESGANI

C/5/2/4

RWD WORKS DIV. FORBESGANI

#### RESTORATION OF ROAD FROM ARRAHA TO YADAV TOLA VIA HARIJAN TOLA

21 70	Items of Works	Nos.	t. (m)	(m)	(m) IN (Ay.)	Quantity (m.)	
_	Filling of local sand obtained from river bed.	-	_				
1	watering & ramming, all complete job as per specification & direction of Engineer-in-charge.				1.833		
			*100	(2.5+1.5)/2	15-12-15/1	381.33	
		2	52.00		(15+33+25)/3	554.17	
		_1	25.00	(6.5+7.5)/2	TOTAL=	935.50	
					Total Qty =	935.50	
2	Labour for cutting 62mm to 75mm dia bamboo piles to size and making shoes & driving by jet machine etc. all complete job as per specification & direction of Engineer-in-Charge.						
		2	52.00	3.00	3.00	936.00	
		2	25.00	3.00	3.00	450.00	
	Labour for fitting & fixing 62mm to 75mm dia				Total Qty =	936.00	
	bamboo runners in position at every vertical pile with 150 mm long nails or 38 swg G.I wire including cost of G.I wire or nails etc all complete job as per specification & direction of Engineer-in-Charge.						
- 1		2	52.00	3.00		312.00	
		2	25.00	3.00		150.00	
- 1		0	0.00	0.00		0.00	
					Total Qty =	462.00	
11	Supplying of EC bag, filling of local sand, stitching and placing in position as per the direction of Engineer-in-charge.						
		2	46.00	(1.5+1.0)/2	(2.5+3.5+2.5)/3	325.83	
- 1		2	25.00	(1.5+1.1)/2	(3.5+3.5+2.5)/3	205.83	
- 1		0	0.00	0.00	0.00	0.00	
- 1		0	0.00	0.00	0.00	0.00	
_			2.1.11	1555	5 TOTAL-	531.67	
_	Total No. of EC Bags =3043535315) SAY NO OF BAGE=						
7	Supply and Carriage of brick bats upto 8 km breach and placing in breaches and lying of bats all complete job.		(+	3	NO OF BAGE	18776	
	an compact too.	1	77.00	6.00	0.15	69.30	
		1	0.00	1.50	0.15	0.00	
					Total Qty.		
-		_		_	-	-	
	Supply Jaying and Carriage of of hume pipe 1900 mm dia (HPC), all complete job.	-	200	3.50			
		1 4	2.00	2.50	Territor	20.00	
	W. I.	_			Total Qty.	<ul><li>20.0</li></ul>	

PAS MORES SAY PORTESSANI

RWD WORKS DIV. FORBESGANI

C/3/9/14

FORBESGANI

# अरराहा से भाइन दोला भामा दरिजन दोला



# अस्राहा से भाइन होला भाभा दरिजन होला



[3/8/4

## अरगहा से भाइन होला नामा हरिजन होला



## अस्यवा से भाइन होला भाभा हरिजन होला



G 10/8/17

# अरराध से भाइन बोला भाषा हरिजन बोला



## अरगहा से भाइन बोला लामा हरिजन बोला



C 10/3/4